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" Read ﬂ:c passage bclaw and answer the questions that follow
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SECTION ONE: LOGIC—_
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e Socr'gfcs arid Giaucén Weré dlscussmg on the qualltles—reqmred~m the guardians. They soon found
themselves in difficulties with the analogy of the watch-dog, whleh combmed the qualities of gentleness and

savagery which they thought incompatible:
“In what way?” asked Glaucon. o
Socrates replied; “l_f_a,well-brcdwa jh-de ehav eiI——lhen—it4s—geniie—te—liiese-it—1ruscd-to,—aﬂd"£*t‘5“5

; i 143 © LIvandys
‘i,simni,er,_then-n-us-savag ;;,;;‘;u th ’\!C‘ urt roq Z :, d:ﬁ,ﬂ:: ,Lf,t:r; ; f‘hoﬁq ) a
Conclusively, smge.sqm ed ‘wat geressive to stranger it_lollows that all well-bred
\vguhdngu&aggmwggg. Compert{i h‘v” 0
Questions ;’
C
(a) (i) State the contradlctory of lhe inverse of “All well-bred watch-dogs arc aggressive creatures”.
' 2 ‘ (5 marks)
(ii) Determine the converse ot?the proposmon in a (i) above. - - (2 marks)
(iii)  Given a (ii) as False, what is the truh valiié of its Subcontrary? ( mark)
(b) 0] Use the disjunctive proposition in the passage and construct a valid'Modus Tollendo Poneﬁs"."
(3 marks)
(ii) - Translatingthe'major of b-(i) above into-a hypothetical proposmon construct a valid Modus--
Tollens. . (3 marks)
(c) (i) Identify a suitable major premise for é'(fbmplex Destructive Dilemma in the passage above.
(2 marks)
(ii) Using c (i), construct a Complex Destruetlve Dl[emma _ (3 marks)
(iii) *'* Refute ¢ (ii)y by-“taking-it'by'the horns? =~ N = <ot (3 marks)
(d) (i) State the Fallacy of Composition most clearly committed in the passage. (1 mark)

(ii) Explain how it has been committed. ' (2 marks)

'

Usmg the terms “dinosaurs” as th:mafor term éiﬁi-bhibizin's as the middle term, and “mammals” as

lhe minor term, construct the following syllogistic argu ents Al dinosaurs o antrl\lCJlﬂnJ

(i) E[O-Z, L mamwd! an’ av?{’mu';rr Mo mth"w,ds an Mﬁ# dx3 marks
¥ ar NDE

e ' Ton (!imnaau ¢ m cuf‘cs‘““s an’ wormﬂ:‘\m{ .r:lﬂ-\

(i) T Test the valldlty of a (i) by means of the Venn Diagram @ ww rffi;j

(i) Construct the Enthymeme of the First Order from a (ii) above/ Dan aoy® ffmar‘i%%

" )
(iii Construct the Enthymeme of the Third Order from a (i) above f\ﬂ nofau! ui.?u as o @ 'mar

\o onaph

@Ap“ leen the minor premlse of a (i) above as False, determine the truth value of its:
() Contrary. (I\m(amns ol mamn\t/-'

i Mphibaana @-? Non - N‘O'N(')
ot ( ii) ggntraposnwe Mwn_m”muj e arphibran) 3+ Imark
- ~mom UL nen - am i
va iii) verse OMD-\:E»:‘ mnmw ¢ piﬂ ’Z::fu _ (3 x Imark)
§ o non. nn| 11
(d) Given the terms: “repules” “wild animals”, carnivores” and “dangerous animals”, construct a:
(i) Simple Constructive Dilemma”
(ii) Simple Destructive Dilemma.

(iii)  Refuted @) above by ‘Gré:'s,piﬁg the horns of the dilemma’. (3 x 3 marks)
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SECTION TWO: TEXTUAL STUDIES / ANALYSIS

e~

SubsSection One: RENE DESCARTES: Meditationson First Philosophy

Read'the Jollowing passage and answer the quc.u)nns below:

What tlien will'be true? ' Perliaps, just the single fact that nothing is certain.

. But how do'T'know there is not something else, over and above all those things that I have just reviewed
coneerning which tlicre is not'even the slightest occasion for doubt?-1s'there not some God, or by whatever name |
might call him, who instils thesethoughts? But why wouldsitiink that; since | myself could perhaps be the author
of tliese: thoughts? Am I fiot tfien  atileast something? ButI' have already denied that | have any senses and any
body. Still I hesitate; I'pr what follaws from this? Am | sa tled to a body and 1o tlic senses that | cannot exist
without them? But 1 have pefsuaded myself that there is absolutely nothing in the world: no sky, no earth, nc
minds, no bodies. Is it then the case that I too do not exist? But doubtless | did exist, if | persuaded myself of
something. But there is some deceiver or other who is supremely powerful and supremely sly and who is always
deliberately deceiving me. Then toa there is no doubt that I exist, if he is deceiving me. And let him do his best at
deception, he will nevét ring it'bout that | am nothing so long as I shall think that | am something. Thus, after
everytliing has been me'Si i:hrcf'ﬁllj" weighed, it must finally be established that this pronouncement: “I am, I exist”,
is necessarily true cy'cr); 't'_imc.l utter it or conceive it in my mind.

Questions
(a) . Indicate the main theme oflht; text above and its logical structure. (5 marks)
(b) Explain the following: b
(i) “how do | know there.js not something else ... concerning which there isnot even the
" slightest occasion for doubt?”
(ii) “this pronouncement: “l am, | exist”, is necessarily true every time I utter it or conceive
itin my mind.” (4 marks)
(c) What, according to Descartes, is the significance of the analogy of the evil genius? (3 marks)
(d) State any-ﬂ{;o reasons why the Cartesian Doubt is useful. . (4 marks)
(e) Why ﬂdes"‘[_)‘cscanes think that we should not make a direct pronouncement on the immortality
of the soul? (4 marks)
(N Is Cartesian subjectivity of any relevance to the philosophical enterprise? _ (5 marks)
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'+ Translate the following arguments into valid™ standard-f ' ) .
= (i) Some writéfs frc not readers; Some authors-are not readers; All writers are :ddUthIt?rs. (3 mayy
(ii) Some reforiiers are fanatics; Some idealists are fanatics; A_Il're.fgrmcrs are idealists. (3 myy,
x (if) State the Figures and Mood Names of a (i)'and a‘(r!)‘ respc_ctlvely.-' e (2x2 Marky)

Fcb)=— Given that A, B and C are True statements, and-X=Y-and Z-are False statements, which of the follewing,-_s?
== are True? . 7(?’;;‘:"3((‘:‘?‘%'*" — Sk
. i = ~ ~ v . [
A5 0 (Z=A)> By~ P R gy

) < T (il) : (BVX)V(Y " A e lFm-K‘ e . st 1%
M A N B S @va) _‘)\Ik‘:flfg;.pn ; T ~ (3x3 marks)
.', . . i £ s, ﬁ‘:\l ‘; Era ] At I . I
(-s:) - Using the variables p, q, r and's, symbolize the following stat’gm'enfs: CLogm e
DCO 4 G) ~Either Mofor isatrader or Azah is a nurse, whichimplies that they are workers; although

» [~(~5)it is not the case that they are rich persons. _ ge: s
x =““)(ilg\ILstgdgnxsmd¢m, then they will not fail; and the proprietor will not be happy, if their

parents do not pay their fees. , o _med "
(iit) Itis not the case that teachers tell lies if and only if their students are stubborn, though the

students’ being stubborn is not a sufficient condition that the teacher tell lies, . (3 x 2 marks)
4, (a) -Using the suggested annotat-ions,“translat'e the.foiiowing arguments into,symbols; i
(i) Only acts that promote the general happiness are morally. obligatory. Not all acts that promote the

general happiness ‘are socially acceptable. Thereforé, at lle‘aéiﬁ'o;ﬁé;ﬁ‘(_f:f?lh'é!’ is'soc_ieiﬂ!)lr'%idceptable is

not morally obligatory. ( Ax : x is an act; Px : x is promotes the gEnéfal happiness: Mx : x is
morally obligatory); Sx: x is socially acceptable)

= (ii) All jesters are knaves. No knaves are foolish persons. Therefore, no jestcrs are foolish persons.
(Jx : xis a jester; Kx : x is a knave; Fx : x is a foolish person) .
(i) No vegetarians are slim persons:'Some drivers are vegetdrians: Thereford; some'drivers are not
slim persons. Vx: x is a vegetarian; Sx: x is a slim person; Dx is a driver) . - (3x2 marks)
(b)  Construct proofs to show the following symbolic arguments valid:
M 1~y D e
2. ~Je~RT « & ' o i
3. ~K /. ~K ‘
(ii) I-R+(S+T)
2.(R*8)T
3.R+S
4. S*R /5. SR r
(iii). I- ~Mv(~Nv~0)
2. ~Mv~N)v~0
3.~M*N)v~0
4. ~Ov~(M+N) /. ~Ov~(M=+N) : (3 x 3 marks)
(¢)  Symbolize each of the following arguments using the letters in brackets as statement-variables. Test their
garg g .

validity by the Truth Table Method: s
(i) If the rain falls (R), then the farmers will plant their seeds (F); while if the storm subsides (8), then
the farmers wifl plant seeds. Either the rain falls or the storm subsides. Therefore, the farmers will
plant seeds. - ' o
(i) Ojong marries Alich (O) and Ngwo marries Enanga (N) if and only if Papa accepts (P). Papa does
not accept. Therefore, neither Ojong marries Alieh nor Ngwo rharries Enanga.
(2 x 5 marks)
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Sub-Section Two: Unseen Tex( »

:‘?-'& " 6. Readtliefollowing passage and’ ansWer the qucstions below:

The: first socicties were governed’ by the: aristocratic form: of: government. The fam|ly 'heads discussed public

matters among themselves, and the youthis yieldediwithiout reluctance to the authority of axpcrlcnce"Heﬁﬁhe names of

priests, elders, senator, and’ gerontes. The: savages ‘of North- Amenca are still governed like this till'date; and-they are very
well poverned.

But:as lhc mequallty produced:by institutions prevails-over: natural.inequality, wealth and power were spreferred to
age, and the uns{ocracy became eléctive. Finally,. the power transmitted: with the property of thie father to the children,
made the familiestb Become patrician; prodiced a. hereditary government' and+ntroduced senators of twenty years old.

Thicre:are; tHerefore, three: types of aristocracy: the natural, tHe-€lective, arid'the hereditary. The first is suited only
to simple peoples; the third is the worst of all governments. The second, which is-tfue aristocracy, is'the best.

Jean-Jacques Rousseau: The Social Contruct

Questions
(@) . Give the central theme and the logical articulations of the text above. (5 marks)

(b) Explain the following:
() “youths yielded without reluctance to the authority of experience.”;

(ii) “inequality produced by mstxtut:ons prevails over natural mequahty (4 marks)
(c) Why does the author think that-elective Aristocracy is tHe best? —(4 marks)
(d) Explain why Rousseau thinks that a democratic form of government is not suitable to men.

(4 marks):

(e) State any two reasons why the aristocratic form of government is better off'than the

democratic form of government. (3 marks)
) Can Aristocracy benefit the present Cameroonian society in any way? . . (5 marks)
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